[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

[} I’J
@ o
S =
510 3
(5}
g 2
= N g
g 10°F- -t 5
= : 3
14
10?
10
il
=i 8
I T
4 4
1k
0.95LL .
=25-20-15-10 -5 0 5 10 15 20 25 —25—20 15 10 5 0 5 10 15 20 25
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_V0001_R000000001__Global__mkFitbase__RECO
—— DQM_V0001_R000000001__Global__mkFitCHIN__RECO
—— DQM_V0001_R000000001__Global__mkFitNDOF__RECO
I N of sim| —— DQM_V0001_R000000001__Global__mkFitNDOF2__RECO
O R R S SR g
S =
b el
8 2
o
2 £
= %]
[5] c
E Q
= 3
14

o T ]
2 B A ‘ 2
¢ DREEURNLIIEIANELR =
RSB
0957 -0.8- 0.2 0.4 0.6 0.8 ) 081
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
Q< F N o
s : [
5104?““"""""""'. """""""""" 3
> F - 2
< ol : 2
c 10°F S
FE e
F x
10? S S i
F : LI :
10 rereee :""f:'{"": """ AR
l=_. [N J. ...... . g
o LU F 1 1 1 1 °
3 t
0¥ 20 -0 0 10 20 30 0530 =20 -i0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} 2
o o
L =
F
2 E
x [%]
Q c
IS S
= 3
i3
8 k=]
© T
04 14
0.5 1 0.5
TP dz(PV) (cm) TP dz(PV) (cm)



	Contents
	Page 1


